Plan for today:
Finish 7.3
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Compute Laplace transform of function involving an exponential or the inverse
of a Laplace transform involving a translation

Be able to recognize a convolution

Be able to use the convolution theorem to compute the Laplace transform of
the convolution of two functions

Know the formula turning multiplication by t into differentiation in s

Know the formula turning division by t into integration in s

Announcements-Reminders
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Read the Textbook
Synchronous online section (901) takes the final in person on May 4, 7-9 pm.
More information on the location will be announced today.
Asynchronous online section (OL1) takes the final online on MyLab Math, May
4, 7Tpm-May 5, 7pm.
Quiz grades will be posted by Monday
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